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95 -20-15-10 -5

[ Efficiend]

TP dxy(PV) (cm)

T_TT _retram

SQOM_MKFT
—_— DQM _mkFit_TT_NEWdefault_specPLess1

—— DQM_mkFit_TT_NEWdefault_specPLess2
—— DQM_mkFit_TT_NEWdefault_specPLess3
—— DOQM_mkFit TT_NEWdefault_specPLess4

A e 0
'|' | Bhiubi
\'\E\' i f|
[k |

0.2 0.

2 0.4 0.6 0.8
TP dxy(PV) (cm)

10 20 30
TP dz(PV) (cm)

Efficiency vs Dz(PV)

< 01

>

o E .
%0.09F- £
e} E

£0.08F
oy E
20.07E
S E

£0.06f -
SFEt
0.08F F1fp-+-
004 H1{ 11
o.osi—-:- L[

.............

0.02F+ - H :
ook It

o Ot i Y

§1.05r g H LH - IH-
065 0

0.5 1
TP dz(PV) (cm)




	Contents
	Page 1


